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3DWULRWLVPH�DGDODK�VLNDS�\DQJ�EHUXSD\D�PHQMDJD�NHPHUGHNDDQ�GHQJDQ�VHJDOD�FDUD��
WHUPDVXN�GHQJDQ�PHQJRUEDQNDQ�MLZD�GDQ�UDJD��%XGL\RQR�������������3DWULRWLVPH�
EHUNHPEDQJ� SHVDW� VHMDN� DEDG� NH� ��� NHWLND� 1LFFROR� 0DFKLHDYHOOL�� VHRUDQJ�
QHJDUDZDQ�,WDOLD�GDQ�DKOL�ILOVDIDW�SROLWLV�PHQJXPXPNDQ�EDKZD�LD�OHELK�PHQFLQWDL�
QHJHULQ\D� GDULSDGD� NHVHODPDWDQ� MLZDQ\D� VHQGLUL�� 3DWULRWLVPH� VHEDJDL� DVSHN�
NHKLGXSDQ� PDQXVLD�� WLGDN� KDQ\D� GLWXQMXNNDQ� GDODP� NHKLGXSDQ� VHKDUL�KDUL�
PHODLQNDQ� MXJD� GLVHQWXK� GHQJDQ� PHGLD� PDVVD� VHSHUWL� LNODQ� XQWXN� PHQGDSDW�
SHUKDWLDQ�PDV\DUDNDW�GDODP�PHPDVDUNDQ�SURGXN�GDQ� MDVD��'DODP�SHQHOLWLDQ� LQL��
SHQHOLWL� WHUWDULN� XQWXN� PHPERQJNDU� SDWULRWLVPH� GDODP� LNODQ� 7HONRPVHO�
�0HQMDGL<DQJ7HUEDLN� ± 3LORW�� 3HQHOLWLDQ� LQL� PHUXSDNDQ� SHQHOLWLDQ� NXDOLWDWLI�
GHQJDQ� SDUDGLJPD� NULWLV� \DQJ� PHQJJXQDNDQ� WHNQLN� DQDOLVLV� VHPLRWLND� 5RODQG�
%DUWKHV��0HQXUXW�5RODQG�%DUWKHV�WHUGDSDW� WLJD�WDKDS�GDODP�PHQJDQDOLVLV�VHEXDK�
WDQGD�� \DLWX� GHQRWDVL�� NRQRWDVL� GDQ� PLWRV�� +DVLO� SHQHOLWLDQ� PHQJXQJNDS� EDKZD�
VHFDUD� GHQRWDVL� LNODQ� 7HONRPVHO �0HQMDGL<DQJ7HUEDLN� ± 3LORW� PHQFHULWDNDQ�
SHUMXDQJDQ� VHRUDQJ� NDSWHQ� EHUQDPD� 5LNR� .DEDN� GL� ZLOD\DK� SHGDODPDQ� 3DSXD��
6HGDQJNDQ� VHFDUD� NRQRWDVL� GLWHPXNDQ� SHPDKDPDQ� EDKZD� SDWULRWLVPH� GDSDW�
GLODNXNDQ� GHQJDQ�PHPDQIDDWNDQ� SURIHVL GDQ� NDUHQD� NHWHULNDWDQ� SDGD� NHORPSRN�
VHQGLUL� 3HQHOLWLDQ�LQL�MXJD�PHQXQMXNNDQ�EHUEDJDL�PLWRV�PHQJHQDL�SDWULRWLVPH�GDQ�
DGHJDQ�\DQJ�GLWXQMXNNDQ�GDODP�LNODQ�7HONRPVHO��0HQMDGL<DQJ7HUEDLN�± 3LORW�
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